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2017 Oct New VMware 2V 0-602 Exam Dumps with PDF and VV CE Free Updated Today! Following are some new 2V 0-602
Questions: 1.]2017 New 2V 0-602 Exam Dumps (PDF & VCE) 275Q& As Download: https://www.braindump2go.com/2v0-602.html
2.]2017 New 2V 0-602 Exam Questions & Answers Download:

https://drive.google.com/drive/fol ders/OB75b5x Y Lj SSNQnZDZHIK OU5xWm8?usp=sharing QUESTION 71Y ou need to add an
object to an existing VApp using the vSphere Web Client. How is this accomplished? A.  Create an Object Inside the vApp.B.

Add an Object toavApp.C. Add an Object to the Datastore the vApp islocated in.D. Move al Objectsto a new Datastore
folder. Answer: AB QUESTION 72Which three items should be validated prior to installing ESXi 6.x? (Choose three)) A. Remote
Storage has been disconnected.B. Installation mediais available.C. Server hardware clock isset to UTC.D. Storage has been
partitioned withaVMFSvolume.E. Network cards have been setup to use Jumbo Frames. Answer: ABC QUESTION 73Which
two badges are major badges in vRealize Operations? (Choosetwo.) A. RiskB. EfficencyC. WorkloadD. Faults Answer: AB
QUESTION 74Which Single Sign-On deployment mode should an administrator use for two 6.x vCenter Servers configured with
linked mode? A. Basic Single Sign-On with vCenter Server HeartbeatB. Multisite Single Sign-OnC. Basic Single Sign-OnD.
Single Sign-On with Linked Mode Answer: B QUESTION 75Refer to the Exhibit. An administrator has been given requirements to
configure vMotion for a new virtual machine. The configuration should:Provide Network RedundancyUse VLAN 550Be secured
against anyone trying to spoof communicationThe vSwitchl configuration is shown in the Exhibit. | vmosea
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Which three changes should be made to meet the stated requirements? (Choose three.) A. The VLAN ID must be set
appropriately.B. The default values for MAC Address Changes and Forged Transmits must be altered.C.  The teaming and
failover adapters must be set appropriately.D. The Traffic Shaping configuration must be altered.E.  The Load Balancing Policy
must be set appropriately. Answer: ABC QUESTION 76An administrator is troubleshooting basic network connectivity issues.
Which two scenarios are potential issues that this administrator might face? (Choosetwo.) A. The vSwitch is not attached to the
correct physical network.B.  The portgroup is not configured to use correct VLAN.C. Traffic shaping is configured incorrectly.D.

Jumbo framesis configured incorrectly. Answer: AB QUESTION 77Refer to the Exhibit. A 4 GB Memory virtual machine is
experiencing extended memory issues, as shown in the Exhibit. What potential issues could be attributed to this memory pressure?
A. Alimitisimposed on the virtual memory of thisvirtual machine.B. The Balloon driver has been uninstalled.C. A limit has
been imposed on the Virtual CPU of the virtual machine.D. Storage IO control has been enabled for the virtual machine causing
the swapped memory. Answer: AB QUESTION 78What is the optimal configuration when building a virtual machine for a
single-threaded Windows application? A.  Deploy single-threaded applications on uniprocessor virtual machines.B. Deploy
single-threaded applications on symmetric multi-processor virtual machines.C. Tune single-threaded applications to take
advantage of symmetric multi-processor resources.D.  Tune Single-threaded applications at the hypervisor level. Answer: A
QUESTION 79An administrator has just completed performing an interactive installation of ESXi 6.x and is booting the host.How is
the network initially configured? A. The network is configured by Automatic Private IP Addressing (APIPA).B. The network is
configured based on the settings detected in DNS.C.  The network is configured with the address as specified in the installer.D.
The network is automatically configured by DHCP. Answer: D QUESTION 80What must be enabled to ensure that VM Component
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Protection (VMCP) works in aHigh Availability cluster? A.  VMware Tools Virtual Machine Communication Interface (VMCI)B.

Fault ToleranceC. Atomic Test and Set (ATS)D.  All Paths Down (APD) Timeout Answer: D ''RECOMMEND!!! 1.]2017
New 2V0-602 Exam Dumps (PDF & VCE) 275Q& As Download: https://www.braindump2go.com/2v0-602.html  2.]2017 New
2V0-602 Study Guide Video: YouTube Video: Y ouTube.com/watch?v=GevbotViwel
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